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Numerical Reasoning test: Question 5 of 18

Assuming a constant exchange rate, what is the projected
approximate value of combined consumer goods exports from botl
Hong Kong and Singapore in ¥+2 (in $m UsD)?
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Numerical Reasoning test: Question 1 of 18

What is the projected percentage increase in the combined
consumer goods exports for both Hong Kong and Singapore
between ¥ and Y+47
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Numerical Reasoning test: Question 3 of 18
Projected Consumer Goods Exports Assuming a constant exchange rate, what is the projected value
G000 of consumer goods exports from Singapore in ¥Y+4 {in $m SG0)7?
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Numerical Reasoning test: Question 1 of 12

What is the projected ratio of Hong Kong to Singapore consumer
goods exports in Y+47
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Cannot say
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Numerical Reasoning test: Question 2 of 12

What percentage of projected consumer goods exports from both
countries in ¥+1 is attributable to Singapore?
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25%
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Projected Consumer Goods Exports
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Question 4

At one time Hong Kong's consumer goods exports
ware projected to rise at 20% peryear from Y+2
armwards. According to this projection, what wauld be
the walue {in fm HKD) of Hong Kong's exports in
Y+
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Numerical Reasoning test: Question 5 of 18
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Projected Consumer Goods Imports What is the projected ratio of USA to UK consumer goods imports
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Numerical Reasoning test: Question 1 of 12

What is the projected percentage decrease in the combined
consumer goods imports for both countries between ¥ and ¥Y+47
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55%
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Numerical Reasoning test: Question 2 of 12

What percentage of the projected consumer goods imports for
both countries in ¥+1 is attributable to the UK?
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160 {—

18%
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Question 5

Assuming a constant exchange rate, what is the
projected approximate value of combined consumer
goods imports for both countries in ¥+2 (in EUR m)?
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4 . . .
Numerical Reasoning test: Question 1 of 18
Projected Consumer Goods Imports At one time USA's consumer goods imports were projected to
&00 decrease at 20% per year from ¥Y+2 onwards. According to this
projection, what would be the value (in $m USD) of USA's impor
S00 e inY+47?
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$USD 1.65 = £1 Sterling
EUR 1.55 = £1 Steding
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Projected Consumer Goods Imports
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Question 3

What multiple of UK imports are LISA imports warth
when calculated in EUR rather than $USD in year Y7
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Question 2

Assuming a constant exchange rate, what is the
prajected value of consumer goods imports for the
LK in ¥+ (in £ Sterling)?
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Numerical Reasoning test: Question 16 of 18

Bealtron Glazing If sales for the month of June followed the same trend as for April

110 to May, what would be the difference between the total sales of
— 100 e June and the total sales of May?
. N
90 ~
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™ 50 7
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This Year n
20,000
- Double glazing = Single glazing & Triple glazing n -5 000
- UPYC glazing -6 Wood em bedded '
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Numerical Reasoning test: Question 17 of 18

Bealtron Glazing What is the approximate ratio of the total sales in January and

110 February combined to that of April?
= 100 f—
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Progress
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Minutes remaining

Numerical Reasoning test: Question 12 of 12

If sales from December of the previous year to January increased
by 40% for double glazing and decreased by 20% for single
glazing, what was the ratio of single glazing to double glazing in
December of the previous year?

2.5

1:2

35

5.7 {E—

4:5
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Numerical Reasoning test: Question 16 of 18

If total sales in December of the previous year were 260,000,
between which two months was there the greatest percentage
change in total sales?

December - January

January - February

February - March  ( —

March - April

April - May

J
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Numerical Reasoning test: Question 18 of 18

Bealtron Glazing Which month saw an increase in the total number of sales in

110 comparison to the previous one?
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Journey time Litden to Fellip
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Numerical Reasoning test: Question 11 of 12

If the speed limit was 31.29 m/s, how many times did the car
break the speed limit during the journey from Litden to Fellip?

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

SHL-TOL-PRW17 rabilityplaye



") Numerical Reasoning test - Mozilla Firefox

File Edit Wew History Bookmarks Tools Help

.ondemand. shl,com\WebForms/abilityFlayer. aspx

FEQFLE FERFORMANCE

rl-?'

Journey time Litden to Fellip
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Numerical Reasoning test: Question 12 of 12

The car was delayed due to a traffic jam 241,350 metres from
Litden at 4pm, which cleared at 4.30pm. If the car left Litden at
3pm with the same speed and avoided this delay, what time
would the car reach Fellip?

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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Journey time Litden to Fellip
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Numerical Reasoning test: Question 15 of 1!

At 4pm, which method of transport was closest to Fellip?

Car—

Train
Coach
Motorbike

Plane
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Mumerical Reasoning test: Question 16 of 18

What is the approzimate difference in average speed (metres per
second) between the method of transport that had the greatest

Journey time Litden to Fellip !
average speed and that which had the lowest average speed ove

200 | the whole journey?
180 ,*I —
160 !
W 140 ' ' 35.76m/s
%120 !"’
w 100
g ;’%/ /,.t K o7a0mss - Y —
& &0
o0 /i/ !}, u 38.44m/s
20 29.78m/s
D__zf 3/ 4 I 5‘( 6 u
o pri pm pri pm
o u 41.42m/s
== Cpach == Train =i~ Plane
- Car - Matarbike

1 mile = 1,609 mekres
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Mumerical Reasoning test: Question 18 of 18

Which mode of transport covered its first 193,080 metres the
quickest?

Car —

Train
Coach
Motorbike

Flane
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Mumerical Reasoning test: Question 6 of 12

& company changes £220,000 to Rupees at 'Today's High' rate to
pay a debt of 2 million Rupees, Approzimately what amount of
Fupees is left over, or still owing, following this transaction?

51,000 still owing <
5,100 still owing
Mo mare owing or aver

5,100 left over

sfejejeje

51,000 left over

i Mext ]
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Numerical Reasoning test: Question 8 of 18

A trader buys Rupees with £15,000 Sterling at "Today's High' rate.
What is the maximum amount of Yen the trader could buy with

these Rupees on this trading day?

3 I 2,840,000

_r_] 2,.842,5m]<
_r_] 2,845,000
o N 2,847,500
N None of these

Mext
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' Numerical Reasoning test: Question 7 of 18

Using the World Bank Index, how many US Dollars would buy the
same amount of Rupees as §562,800 Yen?

World
on D&y [Bank Index

A 3 s.700

15,700

* rates are number of Rupee per stated currency

75,000 < J

Mone of these

ofejeje

Mext

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use SHL-TOL-PRW29:abilityplayer.:

Transferring data from player.ondemand.shl.com...




. LIk Skudent Careers - Your ... = D Numetical Reasoning test

L A& | D rlavar ondamand shlegm \WebFor ms/AbiityFlayer aspx

Home l

>

FEQFLE FERFORMANCGE

Zlosing Change ‘'orld
Paink High onDay  |Bank Index
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Mumerical Reasoning test: Question 5 of 12

How many more Bupees could 20,000 Euros buy at peak exchang
rate than at Closing Point?

23,400
20,200

31,400 < |

58,200

sfejejeje

58,600

i Mext ]
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Skerling

s Dallar

Eura

en

* rates are number of Rupee per skated currency
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Mumerical Reasoning test: Question 10 of 18

If the exchange rate for Yen decreases by the same amount of
Fupees tomorrow as it did today, how many Rupees would 30,000
Yen buy?

@ |
@ |
1 5,100
@ |

Mext
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Question 20

Today's Exchange Rates® for the Indian Rupee Ifthe exchange rates for Sterling and Euro continue

Closing Today's Today's Change "ag:rrll: toincrease every I:!El'g.-' by the same amount of
Point High Low on Day ind Rupees as today, in how many more days would a
ndex Euro buy rmore Rupees than one pound Sterling?
cterling a6.58 a6.8s a4 496 +[1.34 a3.84
L 10
LIS Dollar  34.82 3613 3482 -0.64 24.51
20
Euro ar.29 30.06 35.94 +1.34 36,42 ¢
L ad
Yen 0.3z 0.24 0.20 -0.02 0.20
Yrates 3 nuaberof Rugee per stated cumercy L 40
L a0

to ackivate and use this control |

@ SHL Sroup ple 2004




L B B T ——————
@ http://www.ortshlsolutions.com/?Candidate ID= 200 14128:Guid=5F 36 7ABCC 2BA 43E4-ASAA 6DO2510CFEO1 - Windo... (o=l S
= e —

@ -
Home Test Progress |
— R REEET]
Question 13
Today's Exchange Rates* for the Indian Rupee Which currency loses the greatest proportional value
Closing Today's Today's Change e agaln.st the Rupee wr?en us.mg the Warld Bank
Point High Low on Day Index instead of today's closing exchange rate?
Sterling a6.58 a6.34 a4.96 +0.34 53.88 r } Sterling
LIS Dallar 34.82 J6.13 34.82 -0.64 34.81 r US Dollar
Eurno ar.249 38.36 35.94 +1.34 35.42 C Eurao
Yen 0.3z 0.34 0.30 -0.02 0.30 o Yen < ]

Yrates ae qumber of Rupee per stated comency

£ SHL Group plc 2004
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Instructions
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Numerical Reasoning test: Question 8 of 12

If the exchange rates for Sterling and Euro continue to increase
every day by the same amount of Ngultrums as today, in how
many more days would a Euro buy more NMgultrums than one
pound Sterling?

10

30

40

50

efejejole

Mext
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on Day | Bank Index

Sterling
U5 Dallar

Eura

Yen

* rakes are number of Maullrum per skabed currency
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Numerical Reasoning test: Question 10 of 18

A trader buys Mgultrums with £15,000 Sterling at '"Today's High'
rate. What is the maximum amount of Yen the trader could buy
with these Ngultrums on this trading day?

# I 2,795,000
a I 2,800,000

_r'_j 2,80 5_.CICIO<

a I 2,810,000
a | Mone of these

MNext
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Numerical Reasoning test: Question 11 of 18

— If the Closing Point/World Bank Index ratio is constant, wk
| would the Waorld Bank Index have been for Sterling vester
Stetling
15 Dollar
Eura
— = r 6?.6':'
- =1 ———'I
| * rates are number of Mgullrum per stated currency [ I 68.10
a I 68.60
a I 59.10
r | Cannot Sa'< ]

MNext
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Change ‘'orld
onDay  [Bank Index

Euro

Yen
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Numerical Reasoning test: Question 5 of 12

Using the World Bank Index, how many US Dollars would buy the
same amount of Ngultrums as 1,078,500 Yen?

4] 5,900
4 15,900

59,000

@ |
@ | 95_.mm< ]
@ |

Mone of these

Next
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Test Progress

loday's ExXchange Hates" 1or 1he Bhutanese NOutrum

Waorld
Bank

Laow on Day ——

Sterling TOVE 71 .06 £&.70 Q.23 65 02
LIS Colar 4352 4516 4352 -0.80 4314
Fiirn 1h R1 AR AT 44 43 +1 KA 44 74
Yan 0.+0 0432 028 -0.03 032

WEtes e TEAaer 2F LML g SEtEd cUTency

11}

-~
Minutes Remaining
Question 16
How many more Ngultrums could 20,000 Eurcs buy at
peak exchange rate than at Closing Point?
L 29 300
L 37,300
Y 30.200€ l =
L 72,800
i 85,800




2 Numerical ng On
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ot Test Progress Minutes Remaining -
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Question 18

loday's bExchange Rates” 1or the Bhutanese Nouitium What was the World Bank Index for Yen yesterdsy?

World
Bank
Indox

Sterling 70.72 71.06 £8.70 v0.¢2 68 0J

Closing Todays Todays Chamge
Point High Low onDay

USColar 4352 45.16 4352 -0.80 4314

m

Fumn 46 A1 48 A7 44 93 +1 AR 44 73

Yan 0.70 042 0.32 -0.02 032

Nates ae numder DY NFultun per :ated crmency

i »
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Numerical Reasoning test: Question 6 of 12

A company changes $220,000 to Ngultrums at Today's High' rate
to pay a debt of 10 million Ngultrums. Approximately what amoun

Change ‘'orld } - ) . ) .
D of Ngultrums is left over, or still owing, following this transaction?

onDay  [Bank Index

Euro

£5,000 still owing

Yen

* rates are number of Mogullrum per skaked currency

6,500 still owing < |
Mo more -::uwing ar over
6,500 left over

65,000 left over

sjejejeje

Next
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Today's Exchange Rates* for the Bhutanese Ngultrum

World
Bank
Index

sterling 072 71.06 65.70 +0.42 B5.00

Closing Today's Today's Change
Point High Low on Day

20 | pnannaninini

shi

US Dollar  43.52 4616 43.52 -0.20 43.14
Eurn 46,61 45.a7 44.93 +1 .68 4428
YEn 0.40 0.43 0.38 -0.03 0.38

gtes e nuamher of Nigultes per stated comercy
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Question 13

Which currency loses the greatest proportional value
against the Moultrum when using the Warld Bank
Index instead of today's high rate?

C ) LS Dollar
] Euro
C ] Yen

Next 2
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Today's Exchange Rates* for the Bhutanese Ngultrum

World
Bank
Index

sterling 072 71.06 65.70 +0.42 B5.00

Closing Today's Today's Change
Point High Low on Day

20 jlanaanannnninn

US Dollar  43.52 4616 43.52 -0.20 43.14
Eurn 46,61 45.a7 44.93 +1 .68 4428
YEn 0.40 0.43 0.38 -0.03 0.38

gtes e nuamher of Nigultes per stated comercy
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Question 15

Ifthe exchange rate for Yen decreases by the same
amount of Mgultrums tomorrow as it did today, how
many Mgoltrums woold 30,000 Yen buy?

() 10,700
() 10,500
() 10500
L) 11,000
C ) 11,100

Next 2
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Numerical Reasoning test: Question 7 of 12

Orders Placed with A.H. Engineering If Nippon Air agreed the price of their Gyroscope order in £ Sterling
on 1 January and paid on 1 April, what would be the cost
difference, in Japanese Yen, if paid on 1 April rather than 1

January?

Inik order Turbine Blade NOSCORE Under: ariage

Pistan

E astlands n
L ufbguk a,700 21 g
Mippon &ir ] 15 ]

R ir 2,450 & a0

-_———— 58,877,025 ¥ Less

Fronkier 18,500 45 200

Price per unit (£] £415 £20,500 £287 12.406.800 ¥ Less < |

9,897,500 ¥ Less

Exchange Rates for Steding (£)

12,495,800 ¥ More

sjejejeje

58,877,025 ¥ More

Next
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Orders Placed with A.H. Engineering

Turbine Blade

15
Lofbgee TR 45
Mippom & 2,450 &
Russar 5,700 z1
Frontier  IERERLS 0
Price per unit (£ £425 £21,500

145
£295

L0000

Exchange Rates for Steding (£)

5 Dalla

& SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

Instructions
16

Numerical Reasoning test: Question 6 of 12

If Mippon Air agreed the price of their Gyroscope order in £ Sterli
on 1 January and paid on 1 April, what would be the cost
difference, in Japanese Yen, if paid on 1 April rather than 1
January?

{ I 22,676,490 ¥ Less <

{ I 2,020,140 ¥ Less

1] 1,120,080 ¥ Less
] 22,020,140 ¥ More
) 22,676,490 ¥ More

Mext
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i Numerical Reasoning test: Question 6 of 12

Orders Placed with A.H. Enginesting
Inderc atia

Turbine Blade
Piston

Unit order

E astlands
Lufbguk

Mippon Air

Fronkier

Price per unit (£ £20,500

Exchange Rates for Steding (£)

Us Dolla

© SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use

How many Euros would you get to the US Dollar on 1 January?

@ REE

0 BBt < |
_r_] 1.44

M 170

M 1 cannot say

MNext
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i Numerical Reasoning test: Question 5 of 12

Orders Placed with A.H. Enginesting

Undercaria

Turbine Blade
Piston

Unit order

E astlands
Lufbguk

Mippon Air

Fronkier

Price per unit (£ £20,500

Exchange Rates for Steding (£)

Us Dolla

© SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use

If the price of Turbine Blades increases to £420, what will the
percentage increase be on the cost of the Russair Turbine Blade

order?

o N 0.01%
N 1.19%
N 0% &
N 12.18%
M 19.04%

MNext
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Orders Placed with A.H.

Turbine Blade

Lofbgee TR
Mippom & 2,450
Russar 5,700
Frontier  IERERLS

Engin

15
45 200
& 30
21 g4
0 145
£21,500 £295

eering

Exchange Rates for Steding (£)

5 Dalla
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0000000

Instructions
17

Numerical Reasoning test: Question 5 of 12

If the price of Turbine Blades increases to £435, what will the
percentage increase be on the cost of the Russair Turbine Blade
order?

N 0.01%
o N 0.02%
N 1.20%
N 2.35% < ]
o N 12.18%

Mext
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1 19
Question 7
Orders Placed with A.H. Engineering If Frontier increased their Unit Order of Turbine
Turbine Blade  Gyroscope Under_carrlﬂge Blades by 7%, apprpmmately how much would they
Piston need to pay for Turbine Blades?
—astlands 13,200 ] 144
_uftut 3,700 21 a4
Jippon Air 0 15 0 _C ) £3.580,000
=Ussair 2440 3] 30
: £

- rantier 18,500 445 200 (—) £5.102,000
~rice per unit £414 £20,500 £287 C ) £8 215 000

Exchange Rates for Sterling (£) C_) £13.226.000
dne pound (£) = 1-Jan 1-Apr (_) £45 335 000
={1]{u] 1.44 1.40 1.2
lapanese Yen 23211 191.47 17681
J5 Dallar 1.70 1.61 1.61

Help ) Next

SHL Group plc 2004

@ Internet | Protected Mode: Off g o S 100%
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1 19

Question 8
Orders Placed with A.H. Engineering Ifthe exchange rate for the US Dollar had increased
Turbine Blade  Gyroscope U"dEf_Cﬂ"lﬂﬂE by the same prnpqrtmn as the Euro did between 1
Piston January and 1 April, how many US Dollars would you

Eetsiles 13,200 L 145 have gotto the Pound on 1 April?
Luftgut 8,700 21 84
Mlippon Air 1] 14 1]
Russair 2,440 i 30 C ) $1.73
Fraontier 18,500 45 200
Frice per unit e £414 £20,500 £287 C ) $1.76

_C )57

Exchange Rates for Sterling (£)

1.97
One pound (£) = 1-Jan 1-Apr C_) 5
Eurn 1.44 1.40 1.52

) Cannot say
Japanese Yen 23211 191.47 17681 —) y
LS Dollar 1.70 1.61 1.61

Help ) Next

£ SHL Group plc 2004
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LT
Orders Placed with A.H. Engineering
i Undercarriage

Turbine Blade  Gyroscope Piston

Eastlands 13,200 1] 144
Luftgut |,700 21 a4
Mlippon Air 1] 14 1]
Fussair 2,440 4] 30
Frontier 18,500 45 200

Price per unit £ £414 £20,500 £287

Exchange Rates for Sterling (£)

One pound (£) = 1-Jan 1-Apr

Eurn 1.44 1.40 1.52
Japanese Yen 23211 191.47 17681
LS Dollar 1.70 1.61 1.61

£ SHL Group plc 2004

Question 9

What percentage of the total price of the Eastlands
arder can be attributed to Undercarriage Pistons?

C ) 008%
C)011%
0 0.75%
O ) 1.10%
() 754%

Help ) Next
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Question 17

Orders Placed with A.H. Engineering If Frontier had funds available in all 3 currencies,
Turbine Blade  Gyroscope Under_cﬂrrlﬂge what would be the most favourable currency with
Piston which to pay for their order on 1 January?
Eastlands 13,200 1] 144
Lufteyut a,700 21 a4 .
Nippan Air 0 15 0 L) Sterling
Fussair 244l ] 30 P E
Frontier 18,500 47 200 Hra
Frice per unit @£ £415 £20.500 £287 « ]
:' apanese Yen

Exchange Rates for Sterling (£) L) US Dollar
Dne pound (£) = 1-Jan 1-Apr ) Cannot sa
Euro 1.44 1.40 1.2 _} ¥
Japanese Yen 23211 191.47 175.81
113 Dallar 1.70 1.61 1.61

£ SHL Group plc 2004
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Orders Placed with A.H. Engineering
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Question 10
If Luftgut increased their Linit Qrder of Turbine

Turbine Blade  Gyroscope Under_cﬂrriﬂge Blades by 7%, apprq:{imately b rmdch would they
Piston need to pay far Turhine Blades?
Eastlands I 15 I
Luftgut 18,500 45 200
Mippon Air 2 450 B 20 () £3 580000
Fussair a,7an0 21 a4
Frontier 13,200 1] 144 € £5,102 Doo
Price per unit (£ £424 £21.,500 £295 « £7 345 000
Exchange Rates for Sterling () L 3,413,000
Dne pound (£) = 1-Jan 1-Apr ) £13 226 000
Euro 1.50 1.52 1.58 o
Japanese Yen 191.47 175.81 163.33
LIS Dallar 1.64 1.61 1.60

@ SHL Sroup plc 2004

Press SPACEBAR or ENTER. to activate and use this cn:untrn:nll
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Question 12
What percentage of the total price of the Frantier

Orders Placed with A.H. Engineering

Turbine Blade  Gyroscope Under_cﬂrrlﬂge arder can be attributed to Undercarriage Pistans?
Piston
Eastlands 1] 15 1]
a]
Luftgut 18.500 45 200 L) 0.08%
Mlippon Air 2,440 f 30 o
Fussair 3,700 21 a4 ¢ 0.11%
Frontier 13,200 1] 144 C 0 75 %,
Frice per unit £ £425 £21,500 £2945
L 1.10%
Exchange Rates for Sterlin
g - C) 7 56%
Dne pound (£) = 1-Jan 1-Apr 1-Jul
Euro 1.40 1.62 1.48
Japanese Yen 191.47 1748.81 163.33
LIS Dollar 1.65 1.61 1.60

Next 2
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Numerical Reasoning test: Question 4 of 18

The average annual growth rate in Net Sales for the industry from
1995 onwards was 10%. By how many EUR did the Net Sales of
IPG exceed the industry average by 19977

a40m
G48m
a5am

Ged4m

ofejejoje

Mone of these<

MNext
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Numerical Reasoning test: Question 5 of 18

Efficiency is the Operating Cash Flow as a percentage of total
costs (Goods Sold & Fixed Costs). What was the efficiency of IPG i
19957

13.1%

0

13.3%

0

13.5%

13.7% < |

Mone of these

0

0

0

MNext
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Operating Performance for Intem ational Paper Goods (IPG)

(ELR rmillicr) o Q95 Q97 Q95 399 2000

[l

Numerical Reasoning test: Question 6 of 18

Between which vears did the largest percentage growth in Sales
Margin ocour?

1995-1994
1906-1997 (I
1997-1998
1993-19499

1999-2000

efefejele
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Numerical Reasoning test: Question 5 of 18

If Met Sales increased from 1994 to 1995 by the same pe
as from 1995 to 1995, what was the Sales Margin {in EU
19947

359m

369m

| 279m
l 389m< |

Cannot say

pfeje

ﬁ

R

MNext
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Operating Performance for Intemn ational Paper Goods {(IPG)
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Numerical Reasoning test: Question 6 of 18

The average annual growth rate in Net Sales for the industry from
1995 onwards was 20%. By how many EUR did the Net Sales of
IPG exceed the industry average by 19977

320m
324m
328m

332m

efejejeje

MNone of these < ]
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Operating Performance for Intemn ational Paper Goods {(IPG)

L million) o = 997 995 1999 2000

H0000000000000000 25 Instructions

€ SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

Numerical Reasoning test: Question 3 of 18

Efficiency is the Operating Cash Flow as a percentage of total
costs (Goods Sold & Fixed Costs). What was the efficiency of IPG |
19957

Mone of these

L-LI-[-
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Question 19

Operating Performance for International Paper Goods (IPG) Expressing Sales Margin as a percentage of Net
EUR million) 1995 1996 1997 1998 1999 Sales, whatwas the change in this percentage from
1997 to 19987
Met sales 1600 2168 2468 2378 2808 2700
g;limfg””“ 1088 1487 1661 1508 1568 1,716 _C ) 4% drop
e]
Sales margin 511 B71 886 867 922 993 _C ) 2% drop
Fixed costs 289 411 582 578 592 505 (—)N” change
|
. o
LRI E| ERS 222 260 304 788 331 397 _C ) 2%ise

flonw
C :l 4% rise

Help ) Next

£ SHL Group plc 2004
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Question 20

Operating Performance for International Paper Goods (IPG) Ifthe percentage decrease in Operating Cash Flow
EUR millinn] 1995 1995 1997 1998 1999 for 1997 to 1998 continued atthe same rate, how
many more years would elapse before it fell below
Met sales 1600 2148 24888 23748 24508 27049 1996 levels?
O 0 OO0 1089 1487 1661 1508 1568 1716
sold C 1
Sales margin 511 671 386 aaET 922 9973
DERS |
Fixed costs 289 411 h82 a7 d 292 A96 C 5
LRI E| ERS 277 260 304 288 331 397
floee C 7

Help ) Next

£ SHL Group plc 2004
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Question 21

Operating Performance for International Paper Goods (IPG) What was the average annual percentage growth in
EUR million) 1995 1996 1997 1998 1999 2000 Net Sales for 1999 and 20007
Met sales 1600 2158 25688 2375 2508 2700
. . . . . . c )3_2%
= LISl el 1088 1487 1661 1508 1568 1716
sold ' ' ' ' ' ' C 14.4%
Sales margin 811 G71 886  8RT 922 993 c ) 5 o
- [u]
Fixed costs 289 #11 582  ATE 592 AOB C ) 6.8% < |
Cperating cash
e 222 260 304 289 33 397 c );—_g%
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Question 9
Operating Performance for International Paper Goods (IPG) Farwhich vear did the Cost of Goods Sald constitute

EUR million) 1995 1996 1997 1998 1999 the largest percentage of Met Sales?
Met sales 1,600 21488 24868 2,375 24608 2,709 ¢ 1995
Cost of goods
=ald 1,089 1,487 1,661 1,508 1568 1,716 P ) 199< |
Sales margin 11 671 386 aEY 922 993 « 1997
Fixed costs 289 411 a82 aA78 592 A96 " 1998
Cperating cash
o 222 260 304 289 33 a9y r 1999

L 2000

Next 2
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FEDPLE FERFORMANCE [I |:| |:| |:| |:| |:| |:| |:| [I |:| |:| |:| e Instructions

Numerical Reasoning test: Question 3 of 12

What is the GNP per person in India?

59.40 168 1,023
1,129,000 485,000 265,000
49,80 42,70 37.30
906 : 9.4 7431257 | 261 :739
9,20 12,30 A .44 o N 3259 < |
21.20 15,30 250 L__J 4386
3,10 1.70 150
0,38 1.70 2,10 i’_] £534
m = millions _r___J 43 860
i’_] $2,590,400

Next
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Numerical Reasoning test: Question 4 of 12

How many people live in urban areas in the UK?

59,40 168 1,023
1,129,000 485,000 265,000
49,80 42,70 37.30
906 : 3.4 743257 | 261:739
29,20 12,30 .44 L__J 538,164
21,20 15.30 250 L__J 558 360
310 1.70 150
0.38 1.70 2.10 L'_J 53,816,400 < ]
m = millions _r___J 55 836.000
L__J Cannot say

Next
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Numerical Reasoning test: Question 1 of 18

What is the approxzimate ratio of the number of telephones in

m India India to the number of telephones in the UK?
a3

165 1,023

Popul abdon {m ) 59,40

GNP (in USA $m) 1,129,000 485,000 265,000
Economicdly D 49,50 42,70 37.30
Urban @ Bural P 905 9.4 743257 261 1739
Telephane 29,20 12,30 744 0 B
Yehic 21.20 15.30 250 _r_J S5
Vehicles-Tru : 3,10 1.70 150
Tatal Road Lenath (m of km) DR 1.70 2.10 o B < ]
mm = millions
£_J 4:9
£_J 1:2

MNext

© SHL Group Limited 2010, All rights reserved. Privacy | Terms of use SHL-TOL-PRWZ23:abilityplayer.



f'f Mumerical Screening Online - Windows Internet Explorer - O] x|

£ prbre thanana ark chlenhibinne ""-n'-"nl:-wﬂr"TnstrumentPIa';.-'er.aspx?Candidate_ID=199?238&6uid=95485295-3802-41EIC-HSEC-EAEQ??EEEEES&Randij

] Home o H

shi

Test Progress

21 | |

SROPLE FIRFORMANIE

Question 1
Demographic and Infrastructure Information What percentage of the population in Brazil own both
UK Brazil India cars and telephones?
Fopulation im 9.4 168 1023
GMP (in US4 $m) 1,129,000 485000 265,000 XD 5.2
Economically Active Pop. %) 49.8 427 ar.a
Lrban: Rural Pop. %) Qo694 T43:257 2671:739 'C_) 14.8%
Telephiones (m 29.20 12.30 244 (_) 16.4%
Yehicles-Cars (m) 2.2 15.3 2.5 (_) -7 B
Yehicles-Trucks & BUuses (m) 3.1 1.7 1.5
Total Road Length em of Km) 0.38 1.7 2.1 'C_) Cannot Saﬁ.f< |

1 = miflions

Next 4
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Demographic and Infrastructure Information

shi

FROPLE FOIRFORMANIE

Question 10
If 90% of cars in India are owned by urban dwellers,

UK Brazil India what percentage of urhan dwellers own cars
Fopulation ¢m) 29.4 168 1023 fassuming a maximum of one car per person?
GNP fin US& Sm) 1,129,000 485,000 265,000
Econormically Active Pop. (s 49.3 42.7 37.3 (_) 0.22%
Lithan: Rural Fop. %) 906:94 Y4.3:287 261:7349 (_) III.BAE'-'K |
Telephones (m) 29.20 12.30 a.44
Vehicles-Cars m 21.2 15.3 2.5 L) 1.28%
Yehicles-Trucks & BUSES (m) 3.1 1.7 1.5 r 229,
Total Road Length (m of kKm) 0.38 1.7 2.1

1 = miflions
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Question 11
Demographic and Infrastructure Information How rary vehicles are there per kilametre of road in
UK Brazil India India?

FPopulation ¢m) a4.4 168 1023
GNP Gin USA $m) 1,128,000 485000 265,000 rNosa
Econoamically Active Pop. %) 498 427 7.3
Lithan: Rural Fop. %) 906:94 Y4.3:287 261:7349 ¢ 0.84
Telephiones (m 29.20 12.30 844 (_) 1.15¢ /
Yehicles-Cars (m) 21.2 15.3 2.4 ¢ 190
Vehicles-Trucks & Buses (m) 21 1.7 1.5
Total Road Length (m of kKm) 034 17 21 L) 5.40

1 = miflions

Next 2
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1 = miflions

@ SHL Sroup plc 2004

Home - B
Test Progress
21 Lannnnnnnns | Shl
Question 12
Demographic and Infrastructure Information If 45% of telephones in the UK are owned by
UK Brazil India business, how many people are there in the UK per

Fopulation im} 59.4 168 1023 hame telephone?
GMP Gin USA $m) 1,129,000 485000 265,000
Econormically Active Pop. (s 49.3 42.7 37.3 (_) 0.2
Lithan: Rural Fop. %) 906:94 Y4.3:287 261:7349 ¢ 03
Telephones (m) 29.20 12.30 a.44
vehicles-Cars (m) 1.2 15.3 25 LoJ22
Vehicles-Trucks & Buses (m) 3.1 1.7 1.4 (_) 3_;.r< :
Total Road Length (m of kKm) 0.38 1.7 2.1 : i

Next 2
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Numerical Reasoning test: Question 3 of 12

Demographic and Infrastructure Information How many people live in urban areas in South Africa?

South Africa Argentina

Population {m ) 36,50 19.20 3560
GNP (in USA $m) 122,675 315,500 227,500
36,10 50,10 39.00
61.1:33.9 g6.0: 14.0 o644 13.6
3.82 8.51 435 {3 223,015
3.50 a.10 4.10
a 507,381
1.20 2.00 1.60 _'—J -
0.19 0.52 0.22 a | 5,073,810
m = millions 'a I 22_.3D1_.5l:ICI< |
a I 28,397,000

MNext
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Numerical Reasoning test: Question 4 of 12

Demographic and Infrastructure Information What is the GNP per person in Argentina?

South Africa Argentina

Population {m ) 36,50 19.20 3560
GHP fn Usadmy 0 RS 315,500 227,500
36,10 50,10 39.00
61.1:38.9 | 86.0:14.0 | 86.4:13.6
3.82 8.51 435 o N 3386
3.50 8.10 4.10 o B
1,90 2.00 1,60
0.19 0.62 0.2z Q| 5.5_,39.3< |
m = millions _r___J £24.920
i_] $63,204

MNext
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FEQFLE FERFORMANCE

Australia

Argentina

36,50 19.20 35,60
122,675 315,500 227,500
36,10 50,10 39,00
61.1:35.9 | 86.0:14.0 | 86.4:13.6
3,62 £.51 4.35
3.50 8.10 4.10
1.90 2.00 1.60
0.19 0.52 0.22

m = millions

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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Instructions
17

Numerical Reasoning test: Question 1 of 12

What is the approximate ratio of the number of telephones in
South Africa to the number of telephones in Australia?

25
27
1.3

4:9

sfejejeje

MNext
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Numerical Reasoning test: Question 1 of 12

What is the approximate ratio of privately owned vehicles in Zone
B to privately owned vehicles in Zone C?

1:4

1:3

31

4:1

Ll

Next
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Instructions

17

Numerical Reasoning test: Question 2 of 12

If the average cost of a privately owned vehicle is a third of per
capita income, how much has the population of Zone C spent on
privately owned vehicles in total, in millions of Euros?

_F__] 5,107m
N 14.444m
N 5145m & |
o N 98,670m
il

238,488m

Next
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Numerical Reasoning test: Question 3 of 12

What is the ratio of per capita income in Zone A to Zone B?

ur

equivalent)
18.90 016 112 20634
B 52,30 0.42 210 13,680
11 .95 0. 426 24,750 a | 54
o | 3:2< |
LY 31
r l 2:3
r l 4:5

MNext
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FEOFLE FERFORMANCE 25

Mumerical Reasoning test: Question 5 of 18

Across all three economic zones, what is the approximate ratio of
the population to total vehicles?

Econarmic

0 B
9 B
N o4 '
0 Bt
0 BE

| Mext
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Lifestadc Stores

Skare

Easkern

Morthern

Southern

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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Instructions
16

Numerical Reasoning test: Question 9 of 12

If plans show that stores can yield 15% more turnover than they
did last year, which store is predicted to produce the highest
turnover next year?

Southern
Morthern
Central

Western

Easterﬂ<

ofejejeje
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SHL-TOL-PRW20:abilityplayer.asg



7) Numerical Reasoning test - Mozilla Firefox

File Edit View History Bookmarks Tools Help

“.ondemand. shl,com\WebForms AbilityPlayer. aspx

G Home
i |j , — — tmail - timelson@hotmail.co.uk - Win... || | ‘ LUK Student Careers - Your account =] | |j Humerical Reasoning test

&

FEDPLE FERFORMANCE [I |:| |:| |:| |:| |:| |:| |:| [I |:| |:| |:| 1= Instructions

Numerical Reasoning test: Question 10 of 12

Lifestad: Stores If operating costs remain constant from last vear to this, which
store had the highest turnover per unit operating cost last year?

Central _r__] Southern < J
r_—]:,l,::::r,: _r__l Morthern

o N central

A N westemn

_r__l Eastern

Next
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TR O0000 24 Instrucions

Lifestadc Stores

Skore

Eastern

Zentral

Morthern

Southern

€ SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

Numerical Reasoning test: Question 13 of 18

If operating costs have remained the same as last yvear, for which
store was the ratio of turnover to operating costs the largest that
year?

Southern <

Morthern
Central
Western

Eastern

efejejeje

Mext
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Numerical Reasoning test: Question 12 of 12

Lifestad: Stores

Floar

Zenkral

Morthern

Southern

© SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use

Which store produced the highest turnowver last yvear, per metre
sguared of floor space?

Southern
MNorthern
Central

Western

Eastern < ]

sfejejeje
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LTI 24 Instructions

Lifestadc Stores

Skore

Eastern

Zentral

Morthern

Southern

€ SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

Numerical Reasoning test: Question 15 of 18

Which of the following statements best describes the change in
turnover between last year and next year if turnover is predicted
to increase by 10% from this yvear to next yvear in all stores?

Turnover increases in all stores
Turnover declines in all stores

Total turnover unchanged

Total turnover increases less than 1[!'3.-1:<

Total turnover increases more than 10%

efejejeje

Mext
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FEQFLE FERFORMANCE

Moke: Replanting of brees

+ For the first 500 rees cut down, Rexae GMEH replaces each with 5 rees
+ For the next 500 trees cut doven, up ko 1,000, each is replaced with & trees
« Al rees cut down over 1,000 are replaced with 10 trees per tree cub down

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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Instructions

16

Numerical Reasoning test: Question 7 of 12

If all woodlands were taken on as a single project, then how mat
trees (approximately) would have to be replanted if ALL of the
existing trees in the woodlands were cut down?

181,000

349,000 < ]

421,000

572,000

sfejejeje
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Numerical Reasoning test: Question 8 of 12

Approximately how many trees would Saythel have after the
cutting down and replacing of trees has taken place?

40,000

50.000

Moke: Replanting of brees

+ For the first 500 rees cut down, Rexae GMEH replaces each with 5 rees
+ For the next 500 trees cut doven, up ko 1,000, each is replaced with & trees
« Al rees cut down over 1,000 are replaced with 10 trees per tree cub down

80,000

olelo]e]

| Next
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Rexare GMBH - Environmentally Friendy P aper

Woodland of Mo, of Codt of Costof | Income
i i from

Mote: Replanting of rees

+ For the first 500 brees cut down, Rexare GMEH replaces each with 5 rees
+ For the next S00 trees cut down, up to 1,000, each is replaced with & trees
+ 8| rees cuk down over 1,000 are replaced with 10 trees per bres cut down

€ SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

Numerical Reasoning test: Question 10 of 18

Approximately how much profit is due to Exmur woodland, once all
trees required have been cut, replanting has taken place, and
paper from these trees has been sold?

o N <€9.000

o 3 <125,000

M €1.32 million

N €267 milli-:-n< ]
] €3.74 million
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Rexare GMBH - Environmentally Friendy P aper

Woodland af Mo, of Codt of Costof | Income

frorn

EER00no0

Mote: Replanting of rees

+ For the first 500 brees cut down, Rexare GMEH replaces each with 5 rees
+ For the next S00 trees cut down, up to 1,000, each is replaced with & trees
+ 8| rees cuk down over 1,000 are replaced with 10 trees per bres cut down

€ SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

Instructions
24

Numerical Reasoning test: Question 12 of 18

How many trees would be replaced for the Leymir woodland after
the required trees have been cut down?

efejejeje

11,820
14,184
19,140
23,640

54,520

| Next |
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Numerical Reasoning test: Question 7 of 12

Approximately how much money did Rexare GMBH spend on
replacing trees for all the trees they cut down in the Exmur
woodland?

r | £1,737 < ]
# | £2,500
r | €£4,282

Moke: Replanting of brees

+ For the first 500 rees cut down, Rexae GMEH replaces each with 5 rees r I €8,687

+ For the next 500 trees cut doven, up ko 1,000, each is replaced with & trees

« Al rees cut down over 1,000 are replaced with 10 trees per tree cub down & I £8,877

| Next
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FEQFLE FERFORMANCE

AKXE Fashion Productions

Product Tokd nurmber o

Trousers $g320 | 7230 | 5124 | 6186 | 4820 | 12,945
Shitts 4473 | o542 | Sa4ez | 4654 | 3608 | 7604
Jumpers £2.64 6,437 4,369 §,435 5,615 g,425
Suits $1136 | 2564 | 7264 | 1579 | 6479 | 2545
Cther $245 | 5456 | mize | 7126 | 9433 | 11043

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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Instructions
17

Numerical Reasoning test: Question 7 of 12

Of the total sales over the 5-year period, approximately what
percentage were trousers?

17%

22% < ]

23%

30%

sjejejeje

Mext
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FEQFLE FERFORMANCGE

AKXE Fashion Productions

Produckion
Produck Cosk
per Ikem
Trousers $320 | 7,230 | 5124 | 6,186 | 4820 | 12,945
Shirts 4473 | 9542 | S462 | 4654 | 3608 | 7684
Jumpers d264 | 6437 | 4360 | sa438 | s@is | 84z
Suits $1136 | 2564 | 7264 | 1579 | 6479 | 2545
Other $245 | S4%e | 8176 | 7126 | 9433 | 11,043

@ SHL Sroup Lirmited 2010, All rights reserved, Privacy | Terms of use
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Instructions
14

Mumerical Reasoning test: Question 5 of 12

Cver the S-year period, which product was the most expensive o
produce?

Trousers

5hir‘t5<

Jurnpers

Suits

sfejejeje

Cther

i Mext ]

SHL-TOL-PRW 17 abilitvplaver,



,f_:; Numerical Reasoning test - Windows Internet Explorer

@:v |g, http://player.ondemand. shl.com\WebForms fAbilityPlayer. aspx ""l Bl || 2|

File Home x & -
i Fa — | | ;
&
FEOFLE FERFORMANCE I I I I I I I |:||:||:||:||:| 15 Instructions
—

Numerical Reasoning test: Question 8 of 12

AKXE Fashion Produdtions If the profit value of each item sold is the same, which item made
the most profit for the company over the 5-year period?

Trousers $320 | 7,230 | S124 | 6,186 | 4,820 | 12,945
Shirks 4473 | o954z | Sa62 | 4654 | 3608 | 7684
Jumpers $264 | 6437 | 4380 | 8438 | 5815 | 8428
Suits $1136 | 2564 | 7,264 | 1579 | 6479 | 2,545 (Y Trousers
Other $245 | 5456 | gize | 7126 | 9433 | 11,943
a I Shirts
# | Jumpers
& l Suits
& | Other < ]

MNext
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FEQFLE FERFORMANCE

AKXE Fashion Productions

Produck Tokd nurmber o

Trousers $g320 | 7230 | siz4 | 6186 | 4820 | 12945
Shitts $473 | o542 | sS4z | 4654 | 3608 | 7604
Jumnpers £2.64 0,437 4,369 g,435 9,615 425
Suits $1136 | 2564 | 7,264 | 1579 | 6479 | 2545
Other $245 | 5ase | size | 726 | 9433 | 11,043

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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Instructions
17

Numerical Reasoning test: Question 8 of 12

What is the approximate ratio of shirts sold in Year 1 and Year 2 t
the total sales of all products in Year 57

1:2

2:1

213

32

sfejejeje

MNext
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FEQFLE FERFORMANCGE

AKXE Fashion Productions

Produckion
Produck Cosk
per Ikem
Trousers $320 | 7,230 | 5124 | 6,186 | 4820 | 12,945
Shirts 4473 | 9542 | S462 | 4654 | 3608 | 7684
Jumpers d264 | 6437 | 4360 | sa438 | s@is | 84z
Suits $1136 | 2564 | 7264 | 1579 | 6479 | 2545
Other $245 | S4%e | 8176 | 7126 | 9433 | 11,043

@ SHL Sroup Lirmited 2010, All rights reserved, Privacy | Terms of use
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Instructions
13

Mumerical Reasoning test: Question 7 of 12

What is the ratio of the total number of suits sold inthe 5 years tc
the total number of shirts sold aver the S-year period?

1.2

CHE

S

sfejejeje

i1

i Mext ]
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Numerical Reasoning test: Question 9 of 12

Red Petrol eum Inc - 6 month Target Review If a litre of oil is sold at $0.89, which oilrig made the most profit in
the & month period?

Month
6
[ 256 .25 30,102 (29,403 | 28,642 | 26,036 | 27,956 | 30,215
S22 127 0.1k 12,220 | 17,236 | 12,642 [ 15,423 (11,036 | 15,651 D54 < ]
La4 32 .2 4,236 | 3,212 2541 | 3,695 | 4032 4122
Haz2 115 .21 12,365 |11,336 | 18,531 (12,215 (12,036 | 9,015 523
PEE 78 .21 B.RE | 8,122 8621 7924 8,123 8325

* 1 Gdlon (US) = 3.785 litres
#* fzsum e 30 davs in each month

Ll

| Mext |
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FEOQFLE FERFORMANCE

Red Petroleum Inc - 6 month Target Review

Month

6
[ 256 .25 30,102 (29,403 | 28,642 | 26,036 | 27,956 | 30,215
S22 127 0.1k 12,220 | 17,236 | 12,642 [ 15,423 (11,036 | 15,651
La4 32 .2 4,236 | 3,212 2541 | 3,695 | 4032 4122
Haz2 115 .21 12,365 |11,336 | 18,531 (12,215 (12,036 | 9,015
PEE 78 .21 B.RE | 8,122 8621 7924 8,123 8325

* 1 Gdlon (US) = 3.785 litres
#* fzsum e 30 davs in each month

© SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use
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Instructions

15

Numerical Reasoning test: Question 10 of 12

If a gallon of oil is sold at $0.89, how much profit would Qil Rig D&-
have made in the &-month period (based on targets, and taking
production costs into account)?

£0.26 million
£7.68 million
$14.65 million

$22.12 million

£29.50 million < ]

sfejejeje

| Mext |
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LT E T

Red Petroleum Inc - 6 month Target Review

Month

6
e 4 256 .25 30,102 | 29,402 | 28,642 | 26,036 | 27,956 | 30,215
S22 127 .1k 12,220 | 17,236 | 12,542 | 15,423 | 11,036 | 15,651
La4 32 .22 4,236 | 3,212 2541 | 2,695 | 4032 4,122
H4z 115 .31 12,365 | 11,336 | 18,531 (12,215 (12,036 | 9,015
PEE T8 .zl B.dR6 | 8,123 8k21| FA24) 8,123 8,325

* 1 Gdlon (US) = 3.785 litres
** fzsum e 30 days in each month

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

17

Instructions

Numerical Reasoning test: Question 16 of 18

What is Red Petroleum's total oil production target (in litres) in a &

month period?

r I 2 million
r I 18 million

109 million

@ |
{ I 404 million
{ I 414 million <

| Mext
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FEOFLE FERFORMANCE

Red Petroleum Inc - 6 month Target Review

LTV ETI 16 Iostrucion

Month
1 f

DE4 256 .25 30,102 (29,403 | 28,642 (26,036 | 27,956 | 20,215
523 127 .16 12,220 | 17,236 (12,542 | 15,423 11,0236 | 15,651
Log 32 .22 4,236 [ 3212 | 2,541 | 3,895 ) 4032 4122
Hdz 115 .21 12,365 [11,336 (18,531 | 12,215 (12,0236 | 9,015
ASE Fa .21 G456 [ 8,123 8621 7924 8,123 8,325
* 1 Gdlon (IU3) = 3.785 litres
*#* fesume 30 davs in each month
© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

Numerical Reasoning test: Question 17 of 18

What was the approximate cost of total oil production in Month

£2.25 million

$4.23 miIIi-:-|‘|<

@
@
o 1 $7.12 million
@
@

£38.26 million

£9.41 million

| Next |
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Numerical Reasoning test: Question 1 of 18

If the maintenance cost per kilometre is Euro 0.70, what was the
] difference in maintenance costs between Asquith Crescent and
1 c & - Turly Gardens in Month 5 (to the nearest whole Euro)?

Maonth | M Maonth | Mo _nth

Euro 71

Euro 252

Euro 265

Euro 318

ofejejoje

Euro 458 <

MNext
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Numerical Reasoning test: Question 2 of 12

Between which two months did Asguith Crescent see the greates
percentage change in delivery distance (kilometres)?

= N 1to2
N 2to3
@ | 3tc|4<
W Y 4tos
A stos

MNext
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Numerical Reasoning test: Question 1 of 18

Between which two months did the lowest percentage change
occur in total delivery distance (kms)?

L 1to2
0 2tc|3<
L 3to4
L 4tos
M stos

Mext

)
g

L o
© SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use SHL-TOL-PRW2S:abilityplayer.aspx




") Numerical Reasoning test - Mozilla Firefox

I |:| |htn:n:ﬂplayer.nndemand.shl.n:n::nmfwebFnrmsf.ﬁ.biIity'P'Iayer.aspx

— =

Home |

i
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KQX Delivery services (¥Yehicle Kilometres by Month)

Manth Manth | Totals
4 ! 5}

0000000000000 25 Instructions

€ SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

Numerical Reasoning test: Question 6 of 18

If Asquith Crescent’s maintenance costs per kilometre is Euro 0.11
less than Turly Gardens, and if Turly Gardens’ maintenance costs
were Euro 450.80 in Month 2, what were the maintenance costs
for Asquith Crescent in Month 27

Euro 368
Euro 384

Euro 588

Euro 602< ]

Euro 902

efejejeje

Mext
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Darwin Enterprises Financia Information

Turnover [

Imcome (Em®

Profit Margin

Share Price (pe

Mumber of shae

*m = millions

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

Numerical Reasoning test: Question 6 of 12

If Darwin Enterprise's Share Price/Income ratio had remained
constant from Year 1 onwards, what would the Share Price have
been in Year 37

r l Cannot say

Mext
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FEOQFLE FERFORMANCE

Darwin Enterprises Financial Information

Turnover [Em™*)

Income ©

& Price {pence)

Murnber of Sh

LEEOn00nanag 2 Instructions

*m = millions

Numerical Reasoning test: Question 10 of 18

What would the Turnover be in Year 4 if it continued to decrease
at the same rate as between Year 2 and Year 37

£5.9m
£6.1m

£6.4m

£6.8m <

£7.1m

efejejeje

Mext
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FEQFLE FERFORMANCE

Darwin Enterprises Financia Information

00000000

*m = millions

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

Instructions
17

Numerical Reasoning test: Question 5 of 12

Which of the following formulae has been used to calculate Profit
Margin?

Income/(Turnover x 100)

0

Income/(Debt x 100)

0

(Income/Turnover) ¥ 100 <

0

(Income/Debt) x 100

0

Mone of these

0

MNext
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Question 21

Darwin Enterprises Financial Information What was the smallest percentage drop in Share

Year1 Year2 Year3 Price and when did it occur?
Turnover Em*) 11.4 10.6 3.4
Incorme Em*) 8.2 31 1.1 [ ) Year1to Year2 —18%
Assets (Em™) 423 287 326 ¢ v 1 v o _ 2%
ear 1to Year2 - <:|
Cebt (£m*) 9.7 B.5 178 ?
Profit Margin (%) B0O.70 29.25 12.94 C ) Year1toYear?2 —22%
Sh Pri 108.0 356 a6.6
are Price (pence) L ) Year2toYear3 —21%
Fumber of Shares (m™ a0 a0 a0
“m = millions L) Year2toYear3 —34%

D )

£ SHL Group plc 2004
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Numerical Reasoning test: Question 10 of 12

Zone 5 Assembly Line - Report Considering the hours required in producing a vehicle, and
Mumber of _ ) assuming that overall production cost per hour is £240, which
Line |Product ' 2 vehicle + ner vehicle type proves the most profitable for the company?
A | Cars 15;30 12 hours 117 a0 £6,237
E [Yans ?ggg_ 2.5 hours 76 70 £4 545
C|Lav g?fgg' 22 haurs 195 115 | £11,057 { J Cars
) 10:00-
C | Agricultural {600 & hours 56 42 £10,354 3 I vans
10:00-
E | Cff-Road L8100 & hours 45 45 £3,754 r I LGy
r | Agricultural < ]
{ ] Off-Road

| Next
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FEQFLE FERFORMANCE

Zone 5 Assembly Line - Report

LHTTEAN

) MNurmber of
Product ':'-hifE rman hours
03:00-
& | Cars 1530 12 hours 117 an £6,237
09:00-
B Vans 15:00 2.5 hours 76 70 £4,546
06:00-
| LaV 2100 22 hours 195 115 £11,057
O | agricultural igfgg' & hours 56 4z | £10,354
10:00-
E | Cff-Road 1600 & hours 45 45 £8,254
© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

Instructions

16

Numerical Reasoning test: Question 10 of 12

If all staff were required to work on assembly line A for cars,
approximately how many cars would be produced a day if staff
from other lines are only required to work their normal daily hour:

oLl

A\

| Next
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Numerical Reasoning test: Question 9 of 12
Zone 5 Assembly Line - Repork How many more workers does the assembly line which failed to
Number of ! ) produce its target amount of vehicles require to meet its target?
Praduct ':'-hiFE man hours '
05:00-
& | Cars 1530 12 hours 117 an £6,237
09:00-
B Vans 15:00 2.5 hours 76 70 £4,546
06:00- 11 < ]
| LaW 2100 22 hours 195 115 £11,057
D [ sgricultural | 199097 | 8 hours 56 4z | £10,384 15
10:00-
E | Cff-Road 1600 & hours 45 45 £8,254

Ll

| Next
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FEOFLE FERFORMANCE

Line |Product
& | Cars
E |[Yans
| LiaW
O | saricultaral
E |Cff-Road

Zone 5 Assembly Line - Report

Murber of

e | 12Zhours | 117 80 | £6237
'fggg 9.5 hours 76 70 £4.545
ol | zzhous | 198 115 | £11,057
iggg & hours 56 4z | £10,354
iggg & hours 45 45 | £8,254

& SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

LTI

Instructions
16

Numerical Reasoning test: Question 9 of 12

If the target for cars produced per day were increased to 100
without increasing the number of staff, approximately what time
will the daily shift end (assuming a normal start at 08:00) to mee
this target?

L-L-[-

| Next
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Fil
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Question 10
Departmental Time Usage - Hours per annum If four products were extended during this vear, on
average how many moare hours were spent on each

Time Used
: extension in Technical Semrvices compared to
Department (no. _ Suppqn ! New Prndl_lct Specifications?
of employees) Admin  Products Extensions
Resources

Engineeting 10,000 4,000 g,000 432 C :'161
Technical

:l 163
R 16,000 3,700 9540 BT 3 C
Marketing (3) 6,000 3,600 2,000 1] C )165
Specifications ¢ 6,000 3,000 2,000 33 C ) 167
Development ¢ 8,000 5,000 1,500 324 _C ) None of these

Help ) Next

£ SHL Group plc 2004
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Test Progress

Minutes Remaining

3 UBS

19

Departmental Time Usage - Hours per annum

Time Used
Department (no. Support { New Product
of employees) Resources Admin  Products Extensions
Engineering i 10,000 4,000 6,000 432
Technical 16,000 3,700 9,540 573
Senices @&
Marketing (3) 6,000 3,600 2,000 ]
Specifications ¢ 6,000 3,000 2,000 33
Development i 8,000 a,000 1,400 324

£ SHL Group plc 2004

Question 11

If available time resources in Engineering increase
by 10% in the next year, how many new products will
be launched?

) 600
) 660
_C ) 6,000
) 6600
_C_) Cannot say

Help ) Next
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Question 12
Departmental Time Usage - Hours per annum On average how many mare hours were worked per
employee in Marketing than in Specifications?

Time Used
Department (no. _ Support { New Product C 149
of employees) Resources Admin  Products Extensions _)
Engineering ) 10,000 4,000 5,000 432 _C ) 159
Technical 16,000 3,700 9,540 573 _C ) 169
Senices @&
Marketing () 6,000 3600 2,000 0 _C ) 179
Specifications ¢ 6,000 3,000 2,000 33 C_) 183
Development i 8,000 a,000 1,400 324

Help ) Next

£ SHL Group plc 2004
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Question 11

Departmental Time Usage - Hours per annum If availahle time resources in Marketing increase by
Time Used 10% in the nextyear, how many new products will be
; launched?
Nepartment {no. mﬁ:‘::le Support / New Product
of employees) Admin Products Extensions
Resources r 200
Engineering s 10,000 4000 g,000 432
. L 220
VEEGIGEL 16,000 3700 9,540 673
SEMices (&) () 2000
Marketing (3) 6,000 3,600 2,000 1]
L 2,200
Specifications 6,000 3,000 2,000 33
i = () Cannat say
Development @) 8,000 5,000 1,500 324

Next 2

@ SHL Sroup plc 2004



Philipines Econ, GDP, Population
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/2 Numerical Screening Online - Windows Internet Explorer

Fil
il Home L
W Fi e _ €& Numerical Screening O... &y v Pagew Safetyr
f%% UBS Test Progress Minutes Remaining
T 17
Question 16
Philippine Economic Summary In which year was the greatest number of people
1997 1998 1999 2000 unemployed in the Philippines?
Uizl S BEO0 B435  B018  E400
CH1.000 million) c 1997
SEpF;f;?i;zE(;? el 1100 990 1188 1200 <)
GDP growth perhead — qppe  qppw 200% 1.0% C ) 199
(% change p.a.)
Unemployment rate 27%  100%  105%  15.0% _C) 1999

(% of wakfarce)

_C ) 2000
(_) Cannot say<

Help ) Next

£ SHL Group plc 2004




ff' Numernical Screening Online - Windows Intemet Explorer

File Home
W Fi e _ €& Numerical Screening O... &y v Pagew Safetyr
f%% UBS Test Progress Minutes Remaining
AN 17
Question 17
Philippine Economic Summary What was the percent increase in population from
1997 1998 1999 2000 19497 to 19997
[roel EloE GO0 G435  BOAD 8400
CH1.000 million) C 12 59
SIDI7 (93 (et 5 1,100 900 1188 1,200 C ) 125%
population (F) 15 0%
COP growth perhead  4qpo  qp0%  200% 1.0% ) 150%
(% change p.a.) o
Lnemployment rate C ) 17.5%

(% of wotdorce) 8.7% 10.0% 10.5% 15.0%

_C ) 20.0%
(_) Cannot say <

31%222
(80.19x1188)/(66x1100) = 1.31

Help ) Next

£ SHL Group plc 2004
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Fil
il Home !
W Fi e _ €& Numerical Screening O... &y v Pagew Safetyr
f%% UBS Test Progress Minutes Remaining
T, 16
Question 18
Philippine Economic Summary What would the GDP per working person have been
1997 1998 1999 2000 in 1987, given that the workforce was 55% ofthe
Tatal GDP opulation?
1,000 million) AE.00 F4.345 a0.19 a4.00 pop
GDF per head of
ez O 1,100 990 1,188 1,200 C ) 5500
GOF growth per head )
(% change p.a. 10.0% 10.0% 20.0% 1.0% C ) 51,000
Lnemployment rate
(% of wordarce) 8.7 % 10.0% 10.59% 15.0% C ) $2.UUD< |

_C ) 54.000
(_) Cannot say

Help ) Next

£ SHL Group plc 2004
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Home - B
Test Progress |
20 110d00000000000000
Question 19
Philippine Economic Summary What was the GOP per Head of Population in 19967
1997 1998 1999 2000
Total GDP BE.O0 B4.35 8049 84.00
(1,000 million) ' ' - : (_) 1,000 < |

GOP per head of
population ()

1,100 990 1,188 1,200 ¢
GOP growlh perhead — yqpe  qpp%  200%  1.0% 9 51100
L

[% change p.a.)

Linemployment rate
(% of workdarce] 8.7% 10.0% 10.9% 15.0%

Next 2

@ SHL Sroup plc 2004

Press SPACEBAR or EMTER. to activate and use this n:u:untrn:nll




Computer share

Triple Table

Home




¥} Numerical Reasoning test - Mozilla Firefox

File Edit View History Bookmarks Tools Help

Home

r.ondemand. shl,com/\WebForms/abilityFlayer. aspx

Al

m?mmmmﬂ—]i LJK Student Careers - Your account

=] | |j Mumerical Reasoning test

8|~

FEOFLE FERFORMANCE

Computer Superstore
F jue split by product line
Jupiter

e =split by

Inkernakional

Motes:

1. Al revenue figures in ¢ millions

2, Qustomer base is 400,000

3, The revenue is proporional bo the number of customers

& SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

LHTHTETIT

Instructions
16

Numerical Reasoning test: Question 11 of 12

What is the expected ratio of revenues from the Mars series for
home versus international customers (approximately)?

3:1<
_r__J 4:1
_r__J 5:1

o N 101 ?

g | 100:1

| Next

SHL-TOL-PRW 17 :abilityplays:



¥} Numerical Reasoning test - Mozilla Firefox

File Edit View History Bookmarks Tools Help

H ome r.ondemand. shl,com/\WebForms/abilityFlayer. aspx

Al

m?mmmmﬂ—]ibl( Student Careers - Your account |53 | |j Humerical Reasoning test ﬁ | == |

Instructions
FEOFLE FERFORMANCE I I I I I I I I I I II:I 16

Numerical Reasoning test: Question 12 of 12

Computer Superstore How many home customers would Computer Superstore expect

have in the Narth?
F jue split by product line ‘

Jupiter
e =plit by regi
{1 44,280
3 I 0,000
Internaional
3 I 84,000
r I 108,000
Mokes:
1. Al revenue figures in ¢ millions r 164,000 < ]
2. Cuskomer base is 400,000 ———J '

3, The revenue is proporional bo the number of customers

Finish

& SHL Group Limited 2010. All rights reserved. Privacy | Terms of use SHL-TOL-PRW 17 :abilityplays:
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Home
-y | |

FEOQFLE FERFORMANCE

Computer Superstore
R 1ue splik by product line
Jupiter Cxion CEpricorm

ue split by region

South E ast

Inkernakional

Mokes:

1. Al revenue figures in ¢ millions

2. Customer base is 400,000

3, The revenue is proporional ko the number of cuskormers

© SHL Group Limited 2010

Instructions

TR RO00I

13

4| rights reserved. Privacy | Terms of use

Numerical Reasoning test: Question 14 of 18

Approximately what percentage of the customer base can be
expected to be national customers who purchase the Capricorn
line and are based in the North East region?

N 0.6%

4 2.9%
{ 3%
{ 3.8%

N 5.7% < ]

| Next |
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") Numerical Reasoning test - Mozilla Firefox

I |j |htu:u:leayer.ondernand.shl.u:u::mﬁﬂiebFnrmsf.ﬁ.bilityPlayer.aspx

Home I

ree reonmes 10000000000000000n 25 e

Numerical Reasoning test: Question 1 of 18

What percentage of IKO Inc's Turnover is Profit?

Y 2.4%
{1 24.3%
& I 36.2%
*m = millions D
] 411% < ]
{ l Cannot say
Mext
I
| vy
© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use SHL-TOL-PRW18:abilityplayer.aspx
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L A& | D rlavar ondamand shlegm \WebFor ms/AbiityFlayer aspx

Home

=T T s

FEQFLE FERFORMANCGE

Mumerical Reasoning test: Question 4 of 12

Company Figures at the end of the current Finanda Year Which company has the greatest value of Assets per share?

Hardlow | GRT plc ®iang IO Inc | Aurore
plc

Turnower [£m ™) 160.7
9.2 -33.9 -19 3.0 9.3
4.3 640.1 5.2 2l 130.1
a7 | 3410 1.7 a2 308 { | Hardlow plc < ]
10580 172.1 &0 11.3 48,7 o GRT
| [a][=
s 2.7 09 3.2 T2
3 | Wian
*m = millions 4
r l KD Inc
r l Surare

i Mext ]

@ SHL Sroup Lirmited 2010, All rights reserved, Privacy | Terms of use SHL-TOL-PRW 17 abilitvplaver,




“?) Numerical Reasoning test - Mozilla Firefox

I |j |htn::,.',.’player.nndemand.shl.|:um,.";ﬂ.n'ebFnrms,.'.ﬁ.biIityPlayer.aspx

Home l

s 100000000000000000 2 —

Numerical Reasoning test: Question 2 of 18

If Xiang's Turnover is down 7% from the last financial vear, what
was the Turnover for that year?

{ ] c1s6m
a l £2.45m
a l £2.47m
*m = millions - I
a | £2.74m
3 | Cannot say
MNext
‘ll
L -
© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use SHL-TOL-PRW18:abilityplayer.aspx
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I |:| |htn:n:ﬂplayer.nndemand.shl.n:n::nmfwebFnrmsf.ﬁ.biIity'P'Iayer.aspx

— =

Home

i

FEOQFLE FERFORMANCE

Hardlow
plc

9.2
42,3
9.7
108.0

Mo, af Shares (m™*) 0.5

GRT plc

160.7
-33.9
640.1
3410
1721

2.7

Aiang

-18
25.2
1.7
6.0
0.4

KO Inc

3.0
271
d.z
11.3
3z

Aurare

9.3
130.1
308
43.7
E

0000000000000

*m =millions

Instructions
23

Numerical Reasoning test: Question 6 of 18

If IKO Inc's Turnover is down 7% from the last financial yvear, wha
was the Turnover for that year?

efejejeje

€ SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

£7.5m

£7.85m <

£8.15m

£8.35m

Cannot say

Mext

SHL-TOL-PRWZ2S: abilityplayer
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=

N\
N

Iﬁ |.aspx

Home

SNl

FEQFLE FERFORMANGE

H10000000000000000 25 Instructions

Numerical Reasoning test: Question 3 of 18

Which company has the lowest Turnover/assets ratio?

{ | Hardlow plc

2 | GRT plc

{ ¥ian
*m = millions —.—J g |

{ | IKO Inc

a l Aurore

Mext
I

. ey
© SHL Group Limited 2010, All rights reserved. Privacy | Terms of use SHL-TOL-PRW18:abilityplayer.aspx
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L A& | D rlavar ondamand shlegm \WebFor ms/AbiityFlayer aspx

Home

> 00000000000 17 e

FEQFLE FERFORMANCGE

Mumerical Reasoning test: Question 1 of 12

Company Figures at the end of the current Finanda Year Which company has the greatest Turnover per share?

Hardlow | GRT plc ®iang IO Inc | Aurore
plc

Turnower [£m ™) 160.7
9.2 -33.9 -19 3.0 9.3
4.3 640.1 5.2 2l 130.1
a7 | 3410 1.7 a2 308 { | Hardlow plc
10580 172.1 &0 11.3 48,7 o GRT
| [a][=
s 2.7 09 3.2 T2
3 Wian
*m = millions —_—j d
r l KD Inc
a l ﬂurure< |

i Mext ]

@ SHL Sroup Lirmited 2010, All rights reserved, Privacy | Terms of use SHL-TOL-PRW 17 abilitvplaver,




(j Mumerical Screening Online - Windows Internet Explorer - O] x|

£ prbre thanana ark chlenhibinne ""-n'-"nl:-wﬂr"TnstrumentPIa';.-'er.aspx?Candidate_ID=199?238&6uid=95485295-3802-41EIC-HSEC-EAEQ??EEEEES&Randij

] Home o H

shi

Test Progress

21 L |

SROPLE FIRFORMANIE

Question 4
Company Figures at the end of the current financial year If sormeone were to sell 3,500 shares in Hardlow
Hardlow GRT Xiang IKOInc Aurore ple, howy many shares of Aurare could they boy with
plc pic the proceeds fram that sale?
Turnover Eme 11.4 160.7 2.3 7.3 G0.0
Profit iem™ 9.2 -33.8 -1.4 3.0 9.3 r 7 761
Assets Em™ 42.3 640.1 282 271 130.1
Deht em™) 9.7 341.0 1.7 8.2 an.g ¢ 15,782
Share Price (pencey 108.0 1721 6.0 11.3 8.7 " 35 000
MHo.of Shares (m™ 0.5 2.7 0.4 3.2 7.2
: — L /7 k18
m = millions
L 2075500

Next 2
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-
&

Home Test Progress |

FEOPLE FORFOEMAMCE

Question 11

Company Figures at the end of the current financial year F KO Inc's Turnaover is down 7% from the last
Ha::l::nw (;II?;:T Xiang IKOInc Aurore financial year, whatwas the Turnover for that year?
Turnover (£m®) 11.4 160.7 2.3 7.3 G0.0 ¢ £75m
Profit cem™ §.2 -32.49 -1.9 2.0 5.3
Assets Emm 423 G401 252 271 1304 x» £7.85m¢ '
Deht em™ 8.7 a41.0 1.7 8.2 a0.a ) £8.15m
Share Price (pence) 108.0 1721 6.0 11.3 48.7
Mo.of Shares ey 0.5 27 08 32 72 L £8.35m
“m = millions (_) Cannot say

£ SHL Group plc 2004
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File Edit View History Bookmarks Tools Help

i
r.ondemand. shl,com/\WebForms/abilityFlayer. aspx
G Home A e

E‘wummmﬂ—'JK Student Careers - Your account

(3] l |j Numerical Reasoning test

e

=]

FEQFLE FERFORMANCE

Yearly Income {'000s)

Turnover
Coskt aof 5
Cverheads

tional Cosks

Other Incom e

Earnings before Income Tax

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use

LT E AT

Instructions
16

Numerical Reasoning test: Question 9 of 12

Other income is expected to drop by 70% in ¥Year 2 and
exceptional costs are predicted to double. If turnover changes a
from Year 1 to Year 2, and cost of sales and overheads remain as
for Year 2, what will the percentage change be from Year 1 to Ye
3 in 2arnings before income tax?

_f:__] & decline of 55%

_r:_J & decline of 17%

_f:__] & decline of 7.2%

_r_J Anincrease of 3.8% <
_r:_J An increase of 11.3%

MNext
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“)) Numerical Reasoning test - Mozilla Firefox

File Edit View History Bookmarks Tools Help

i
r.ondemand. shl,com/\WebForms/abilityFlayer. aspx
G Home A e

Lk Student Careers - Your account (3] l |j Numerical Reasoning test B I -+ |

=]

FEQFLE FERFORMANCE

Yearly Income {'000s)

Turnover
Coskt aof 5
Cverheads

tional Cosks

Other Incom e

Earnings before Income Tax

LELET I 6 Instructions

Numerical Reasoning test: Question 10 of 12

If the cost of sales continues at the same percentage as from Ye:
1 to Year 2, what will it be in Year 3 to the nearest million?

37

© SHL Group Limited 2010. All rights reserved.

38< ]

39

40

41

efejejeje

MNext

Erivacy | Terms of use SHL-TOL-PRW17 rabilityplaye




Sales of Cars

Barcharts

Home




=] Align Text OALLe - - -
A ick
Pfl_'l'ianverttcu Smartart 5 e% REAY { } 3 rra'ngE S?}I'-Il:zi

ont ) Paragraph . Drawing

VT — Reset

Mew ..
nat Painter | Slide = 5 Section - |

B
I
I
I
I

[

B 7 U 8 abe 2V~ Aa == = = &

Home

WUIErICal Reasoninig te=L - Mozilla Firefox

| | | https/fplayer andemand.shl.comWebFarms/AbiliyPlayer. aspx

®

Progress

LEEN00000000000

Numerical Reasoning test: Question 7 ¢

Sales Figures for the Top 5 Popular Cars A customer drives 10,000 miles 3 year on average

10 the retail price and fuel economy only, how many
customer have to drive the model GO2F for it to be
economical than the F3257

Test2 '

nits sold (millions)

[ Private Cars [ Business Cars
u 4 Years
G0ZF F3z6 E323 5365 GE36
£16,000  £14390 £11,654 £17265 £11,314 n 3 Years
£22,000 £20958  £16,745  £24,547  £15,265
1.8 2.0 1.6 2.3 1.8
32 27 38 37 35

£4.75 £4.75 £5.05 £5.05 £4.75

2 SHL Group Limited 2010. All rights reserved. Privacy | Terms of use SHL-TOL-PR
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Progress Minutes remaining
FEOFLE FERFORMANCE IIIIIIIIHUUUHUHU

Numerical Reasoning test: Question 11 of 18

SalesFigures for the Top 5 Popular Cars Considering the number of vehicles bought as business cars, how
10 much profit did the model that benefited the most by targeting thi
market make?

r"

£20,5132 million

£35,126 millian—

£50,684 million

niks sold {millions)

GE0zZF Fazé E323 5365 GE36
[ Private Cars [ Business Cars

£55,236 million

GOZF Faz6 E323 5365 GE36
£16,000 £14,390 £11,654  £17265  £11,314
£22,000 £20,968 £16,745  £24547  £15,265

1.8 2.0 16 2.3 1.3
3z 27 38 37 35

£80,457 million

£4.75 £4.75 £5.05 £5.05 £4.75

& SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use SHL-TOL-PRW1i4:abilityplayer
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Progress Minutes remaining
FEOFLE FERFORMANCE IIIIII IUUUHHHH

Numerical Reasoning test: Question 12 of 18

r"

SalesFigures for the Top 5 Popular Cars If a gallon is 4.55 litres, how many litres would the most fuel-

10 economic model use for a journey of 200 miles?

o
=
g
T
=]
7 :
2 ) 2 ives (EEE——
=
j .
u 25 litres
GOZF Faz26. Ezz3 5365 (GE36 u 26 litres
[ Private Cars [ Business Cars .
a 27 litres
G02F F3z6 E323 5365 GE36 _
£16,000 £14,390  £11,654  £17265  £11,314 a 28 litres

£22,000 £20,968 £16,745  £24547  £15,265
1.8 2.0 16 2.3 1.3
3z 27 38 37 35

£4.75 £4.75 £5.05 £5.05 £4.75

& SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use SHL-TOL-PRW1i4:abilityplayer
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&
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-

Sales Figures for the Top 5 Popular Cars

LENRN000000o0

24

Numerical Reasoning test: Question 9 of

If the engine size refers to the litres of fuel it holds :
time, approximately how many times does the engin
fuel-economic model need to be refilled to cover a jo

miles? 1 Gallon = 4.55 litres.

ofejejeje

10
9.74

I

= 7.54

=2

E tHEZE =15 B.15

=)

74

p

5

1 ﬂ
GOZF | F3Z6 E323 S3IE5 | GA36
O Private Cars [ Business Cars

Model code GOZEF F3Za E323 5365 GR35
Production cosk £16,000  £14,390  £11,654 £172650  £11,314
Retail price £22,000 £70,965  £16,745  £74547  £15,765
Engine size {lires) 1.8 20 16 2.3 18
Miles per LUK Gallon 3z 27 33 37 35
Fud cosk
{per UK gallan) £4.75 £4.75 £5.05 £5.05 £4.75
& SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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Numerical Reasoning test: Question 10 of 18

r"

SalesFigures for the Top 5 Popular Cars If a journey of 200 miles was to be made, which model would

10 prove the most cost effective in terms of fuel economy?

w
=
g
E
L=,
&
: Co
=
o
Co
GO2F F326 E323 5365 G636 u E323_
[ Private Cars [ Business Cars
Co B
G0ZF Fize E3z3 5365 GBI
£16,000 £14390  £11,654  £17.265  £11,314 a G636 .

£22,000 £20,968 £16,745  £24547  £15,265
1.8 2.0 16 2.3 1.3
3z 27 38 37 35

£4.75 £4.75 £5.05 £5.05 £4.75

& SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use SHL-TOL-PRW1i4:abilityplayer
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r"

Numerical Reasoning test: Question 16 of 18

Compail Subsidiaries Approximately how much Revenue did Compoil generate per

i 7
o 1992 Ccompany on average in 19927

c 71
G
5
4
cE

)

$93,000,000

)
1

S Dallar (41,000 millio

$93,250,000

Exploration  Matural Petro- Exploration  Matwral Pe tro-
-4 T Gas chernicals (B Gas chernicals
(2] (500 (48] (40)

Induskry Seckar (no, of companies)

$93,500,000

$93J50,DDD—

594,000,000

[ Revenue I Cperating Profit

efefeje]e

& SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use SHL-TOL-PRW1E:abilityplayer
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FEQFLE FERFORMANCE

rl-?'

Compoil Subsidiaries

g 1992 1993
=
=]
=g
E
S 5-
=
E 4
P
22
3 14

04

Exploration  Matural P bra- Esploration  Matural Petro
-1 TRy Gas chermicals (50 gas chemicals
(62] (50 [42) [40]

Industry Sector (no, of companies)

[ Revenue Il Cperating Proft |

Minutes remaining

Numerical Reasoning test: Question 11 of 12

The total growth in Revenue for the Petrochemical sector betwee
1992 and 1998 is eguivalent to what constant annual rate of

growth?

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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FEQFLE FERFORMANCE

rl-?'

Compoil Subsidiaries

o 1992
C 7
=

)

(41,000 millio

Exploration  Matural
-1 TRy Gas
(62]

P bro-
chermicals

(50)

Exploration
(50)

1995

Matural Petro-
gas chemicals
[42] [40]

Industry Sector (no, of companies)

B Fevenue

Il Cperating Proft |

Minutes remaining

Numerical Reasoning test: Question 12 of 12

How many more US Dollars Operating Profit did Compaoil generate
per Exploration company in 1998 than in 19927

$625,000
$1,250,000

£2,500,000

$5,000,000 —

Mone of these

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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":E Murmerical Screening 0. X

ﬁ * Page~ Safety =

Euros (EUR million)

-0.2

L Tidal
27 (25

Test Progress

Greenco Subsidiaries

1994

4.8

Wind
(16)

2.0

Solar
(31)

16

Tidal
(20}

2000

72

Wind Solar
(25) (23)

Industry Sector (no. of companies)

B Revenue

B Operating Profit

£ SHL Group plc 2004

Question 13

Minutes Remaining

18

How many maore Euras COperating Profit did Greenco
generate per Tidal company in 2000 than in 19947

_C) EUR 54,000

_C_) EUR 108,000
_C ) EUR 216,000
_C) EUR 432,000
C_) Mone of these

Help )

Next >




7~ Numerical Screening Online - Windows Internet Explorer

-

":E Murmerical Screening 0. X

ﬁ * Page~ Safety =

16 —
14 - 134
5
= 10
E gL
i
D 6
'] |
E &
o 2k
o 0.2
L Tidal
2 7 (25

Test Progress

Greenco Subsidiaries

1994

4.8

Wind
(16)

Industry Sector (no. of companies)

2.0

Solar
(31)

16

Tidal
(20}

2000

72

Wind Solar
(25) (23)

B Revenue

B Operating Profit

£ SHL Group plc 2004

Question 14

Minutes Remaining

17

Approximately how much Revenue did Greenco
generate per company on average in 19947

_C_) EUR 350,000
_C) EUR 375,000
_C) EUR 400,000
_C) EUR 425,000
_C) EUR 450,000

Help )

Next >
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Test Progress

Greenco Subsidiaries

1994

4.8

Wind
(16)

Industry Sector (no. of companies)

2.0

Solar
(31)

16

Tidal
(20}

2000

72

Wind Solar
(25) (23)

B Revenue

B Operating Profit

£ SHL Group plc 2004

Question 15

Minutes Remaining

17

The total growth in Revenue for the Tidal sectar
between 1994 and 2000 is equivalent to what
constant annual rate of growth?

C)30%
€ )33%
C ) 36%
) 39%

C_) Cannot say <

Help )

Next >
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Test Progress
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SROPLE FIRFORMANIE

N Question 1
Greenco Subsidiaries If revenue for the Wind sector as a whole decreased
16 1994 e 2000 by 15% between 1994 and 2000, by what percentage

has Greenco's share of the Wind market grown?

Euros (EUR million)

2 L Tidal Wind Solar Tidal Wind Solar
(23) (16} (31) (20) (23) (23)

Industry Sector (no. of companies)

P Revenue B Operating Profit

ext 2

@ SHL Sroup plc 2004
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SROPLE FIRFORMANIE

N Question 2
Greenco Subsidiaries What proporion of total Greencao Qperating Profit for
16 - 1994 e 2000 2000 was generated by the Solar sector?

Euros (EUR million)

2 L Tidal Wind Solar Tidal Wind Solar
(23) (16} (31) (20) (23) (23)

Industry Sector (no. of companies)

P Revenue B Operating Profit

ext 2

@ SHL Sroup plc 2004
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SROPLE FIRFORMANIE

L Question 3
Greenco Subsidiaries Which Industry Sectar inwhich year generated the
16 — 1994 = 2000 greatest Operating Profit per company?
14
_ 12 (C) Tidal in 1994
=
= 10 () Wind in 1994
E 8
S () Solarin 1994
2 4 () Tidal in 2000
g 2 1) Wind in 2000
0
p L Tidal  Wind  Solar Tidal  Wind  Solar n solarin EIIIIIID< |

(25} {16} (31} (20} (25) (23)
Industry Sector (no. of companies)

P Revenue B Operating Profit

@ SHL Sroup plc 2004
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FOOPLE FTARFORMANTE

N Question 4
Greenco Subsidiaries Profit ratio is Operating Profit as a percentage of
16

1994 2000 Revenue. What was the difference in profit ratio in
the Wind sector between 2000 and 19947

c
=
E
1
3
|
@
g
i

| Tidal Wind Solar Tidal Wind Solar
(23) (16) (31) (20) (23) (23)

Industry Sector (no. of companies)

P Revenue B Operating Profit

£ SHL Group plc 2004
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") Numerical Reasoning test - Mozilla Firefox

File Edit Wew History Bookmarks Tools Help

.ondemand. shl,com\WebForms/abilityFlayer. aspx

FEQFLE FERFORMANCE

r"
UK Census Report
Awerage Income
millions per Home (Annual)
251 22 0% -£25,000
204 I?JS?Q _EEDJDDD
151 -FE£15,000
104 -FE10,000
5 L £5,000
FE£0
Morthern  Midland  Southern Easkern Western
& Popul skion (millions) M State Owned Houses (millions)
[ Privabe Houses (millions) == fverage Annual Income per House

Minutes remaining

Numerical Reasoning test: Question 12 of 12

Which region has the greatest concentration of individuals per
house (state owned and private)?

Morthern
Midland
Southern

Eastern

Western ¢ ——

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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.ondemand. shl,com\WebForms/abilityFlayer. aspx

FEQFLE FERFORMANCE

r"
UK Census Report
Awerage Income
millions per Home (Annual)
251 22 0% -£25,000
204 I?JS?Q _EEDJDDD
151 -FE£15,000
104 -FE10,000
5 L £5,000
FE£0
Morthern  Midland  Southern Easkern Western
& Popul skion (millions) M State Owned Houses (millions)
[ Privabe Houses (millions) == fverage Annual Income per House

Minutes remaining

Numerical Reasoning test: Question 11 of 12

Considering the total annual income of the different regions,
approximately what is the income difference in millions, between
the region with the lowest total annual income and the region
with the largest total annual income?

|

£131,000

£151,000
£241,000

£259,000

£390,000 .

© SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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Minutes remaining

r‘"

Numerical Reasoning test: Question 16 of 1!

UK Census Report Which region has the greatest ratio of state owned hou:

Awerage Income those that are privately owned?

riillians per Hame (Annual)
29 22, 0% r£25,000
204 17,379 FEZ0,000
154 FE1S,000
u Morthern
10 L £10,000 _
u Midland
S+ FES,000
! u Southern
0= rEeQ
Nerbern | Midnd | Southen | Emtern | Viestem ) cesten r—
O Popul ation imilions) W Stake Owned Houses (millions) u Western
[ Privake Houses (millians) == fverage Annual Income per House
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?} Numerical Reasoning test - Mozilla Firefox

Progress Minutes remaining

T LI

4 i i .
Numerical Reasoning test: Question 13 of 18
UK Census Report On average a house in the Morthern region costs £160,000, with
o pg:ﬂ‘;?ﬂ'ael?;ﬁ;”uz” the price increasing by 10% in each region, i.e. Midland, Southern
Eastern and Western, respectively. Which region has the most
231 22,036 r£23,000 capital, in terms of value of their houses?
201 17,379 FE20,000
151 FE15,000
D Morthern
104 L £10,000 _
u Midland
54 FE£5,000
! u Southern
rE£0
Morthern  Midland  Southern Eastern Wieskern u Eastern
@ Popul&ion {millions) M Stake Owned Houses {millions) u Western
[ Privake Houses {millions) H=fverage Annual Income per House

|

SHL-TOL-PRW1i4:abilityplayer
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IO, S

Numerical Reasoning test: Question 7 of 18

FEOQFLE FERFORMANCE

r"

Annual Air Traffic

(in 1,0005 of millions of passengers) Over the last 5 years by how many passengers did the increase

European traffic exceed the increase in USA passengers?

35

400,000,000 _

500,000,000

oo-
S wears ago Toda
' = ' 4,000,000,000
[ Rest of wWiorld [ Europe
O Asia-Pacific [T 5,000,000,000

Cannot say

& SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use SHL-TOL-PRWZ0: abilityplayer
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Numerical Reasoning test: Question 8 of 18

FEOQFLE FERFORMANCE

r"

Annual Air Traffic

(in 1,0005 of millions of passengers) What is the percentage increase in global passenger air traffic

over the last 5 years?

35
30
25
2.0
1.5
Co U
1.0
o] ) o (eee——
on-
5 years ago Today
0
[ Rest of wWiorld [ Europe
[ Asia-Pacific [ Lt a 87%
a MNone of these

& SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use SHL-TOL-PRWZ0: abilityplayer
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Numerical Reasoning test: Question 9 of 18

FEOQFLE FERFORMANCE

r"

Err.lnluléldﬂnl]:‘l]-rl'!‘?nrgﬁuns of passengers) If the increase in global passenger air traffic continues at the
' P 9 current rate, approximately how many annual air passengers
(millions) will there be in 5 years time?

35

1.5
Co E
1.0
oo-
S wears ago Toda
e Y ) 550 ———
[ Rest of wWiorld [ Europe
[ Asia-Pacific | UsA a 53,2900m
a Mone of these

& SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use SHL-TOL-PRW?Z0:abilityplayer.z
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Numerical Reasoning test: Question 9 of 18

FEOQFLE FERFORMANCE

r"

Annua Air Traffic . s

. i The average distance flown per passenger within Europe 5 yea
1,000s of mill f :

(in s of millions of passengers) ago was 1,000km. Today this figure has decreased by 20%. B

how many percent has the total distance travelled by flights

departing in Europe changed today?

35

50% decrease

20% decrease

on-
S wears ago Today
Mo change
[ Rest of wWiorld [ Europe
0 Asia-Pacifi B UsA 140% Increase e —

280% increase

& SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use SHL-TOL-PRWZ2S: abilitypla:
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") Numerical Reasoning test - Mozilla Firefox

File Edit Wew History Bookmarks Tools Help

.ondemand. shl,com\WebForms/abilityFlayer. aspx

Progress Minutes remaining

1000000000

FEOFLE FERFORMANCE

rlf'

Numerical Reasoning test: Question 3 of 12

Regional Drug Sales: Tequental & Pamol In which region do Parnaol sales exceed (in $) Tequental sales?

(=T
100%: X
0%
BI0%a
0%
20%] a Rest of World
0%~ a Rest of Asia
? Tequentd Parnol
(44,000 million) (42,000 million)
) «ore: (—
[ Rest of \Warld [ Rest of Asia
3 korea 1 Japan u Japan
B Hong kong
u Hong Kong

& SHL Group Limited 2010. All rights reserved. Privacy | Terms of use SHL-TOL-PRW 17 :abilityplays:




") Numerical Reasoning test - Mozilla Firefox

File Edit Wew History Bookmarks Tools Help

.ondemand. shl,com\WebForms/abilityFlayer. aspx

FEOFLE FERFORMANCE

rlf'

100%s
G0%a
A0%a
40%

0%

0%~

Tequentd
(44,000 million)

Regional Drug Sales: Tequental & Pamol

2%

Parnol
(42,000 million)

[ Rest of \Warld
O korea
B Hong kong

[ Rest of Asia

[ Japan

Progress Minutes remaining

100000000

Numerical Reasoning test: Question 4 of 12

By how many dollars do Tequental sales exceed Parnol sales in
the whole of aAsia?

%1,500m
%1,600m
$1,700m ¢ EE—
$1,800m

Cannot say

& SHL Group Limited 2010. All rights reserved. Privacy | Terms of use
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FEOQFLE FERFORMANCE

r"

Regional Drug Sales: Tequenta & Pamol
2%

100%

B0%

B0%a—

0%

20%

0%~
: Tequentd Parnal
(44,000 million) (42,000 million)
I Resk of World M Rest of Asia
O Korea [ Japan
W Hong kong

Progress

100000000000000000

Minutes remaining

Numerical Reasoning test: Question 2 of 18

The amount of Tequental sales in the Rest of the World is forec
to rise at 20% per year, while the amount of Tequental sales ir
Korea is expected to remain constant. How long will it take for
Teguental sales in the Rest of the World to exceed those in
Korea?

& SHL Group Limited 2010. &ll rights reserved. Privacy | Terms of use

SHL-TOL-PRW2S:abilitypla
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(j Numerical Screening Online - Windows Internet Explorer

2w Fi & Mumerical Screening O... X &y v Pagew Safetyr

| | -

% UB S Test Progress Minutes Remaining
21

Question 1

Mobile Phone Networks: Commnet & Intercall The number of Commnet users in ltaly is forecast to

100% rise at 10% per year, while the number of Commnet
B Rest of Europe users in Germany is expected to remain constant.
ltaly How long will it take for the number of Commnet
80% users in ltaly to exceed those in Germany?
B uK
s0% |- M France )1 year < ]
Germarn
- Y C )2 years
0% C ) 3 years
) 4vyears
20% |- _) v
C ) 5years
0%

Commnet Intercall
{10 million users) {5 million users)

Help ) Next

£ SHL Group plc 2004
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2w Fi & Mumerical Screening O... X &y v Pagew Safetyr

| | -

% UB S Test Progress Minutes Remaining
21

Question 2

Mobile Phone Networks: Commnet & Intercall By how many users does Commnet exceed Intercall

100% in Germany and France combined?
B Rest of Europe
g0 L Italy C ) 1.0m
UK C ) 1.1m
B France
60% - C ) 1.2m
B Germany
¢ )13m < ]
40% -
C ) Cannot say
20% |-
0%

Commnet Intercall
{10 million users) {5 million users)

Help ) Next

£ SHL Group plc 2004
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2w Fi & Mumerical Screening O... X &y v Pagew Safetyr

| | -

Test Progress Minutes Remaining
A UBS 5

Question 3

Mobile Phone Networks: Commnet & Intercall [f Commnet has 1.5 times the number of business

100% customers as Intercall, how many non-business
B Rest of Europe customers does Intercall have in Europe?
Itahy
80% )
. UK E 0.756m
France C 1.5m
oo 2 <)
B Germany C ) 2 5m
40% - ¢ ) 3.0m
¢ ) Cannot say < ]
20%
0%

Commnet Intercall
{10 million users) {5 million users)

Help ) Next

£ SHL Group plc 2004
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Test Progress
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FROPLE FOIRFORMANIE

Question 2

Mobile Phone Networks: Commnet & Intercall In which region does Cormmnet not have more

100% uzers than Intercall?
B Rest of Europe
80% - Italy L ) Rest of Europe € )
ol ) ttaly
France
60% |- N B
B Germany
{ ) France
40%
{ ,'I Germany
20%
0%

Commnet Intercall
{10 million users) {5 million users)

Next 2
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100%

80%

B0%

40%

20%

0%

Home

21

Commnet
{10 million users)
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Intercall
{5 million users)

Test Progress

Mobile Phone Networks: Commnet & Intercall

B Rest of Europe
Italy

B UK

B France

B Germany

Question 16

s B

shi

FROPLE FOIRFORMANIE

On average an Intercall user makes twice as many

calls {in minutes) as a Commnet user. What is the
Intercall:Commnet ratio in terms of netwark traffic’?

L )13
L )12
L) 21
L) 3




100%

80%

B0%

40%

20%

0%

Home

21

Commnet
{10 million users)
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Test Progress

s B

Mobile Phone Networks: Commnet & Intercall

B Rest of Europe
Italy

B UK
B France
B Germany

shi
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Question 17

Approximateh what percentage of all Commnet and
Intercall mabile phone users are accounted for by
[taly?

CD) 12%
C) 14%
£ 15%
£ 18% € 1

Next 2
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40%

20%
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Intercall
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Mobile Phone Networks: Commnet & Intercall

B Rest of Europe
Italy

B UK
B France
B Germany

Question 18

Approximateh what percentage of all Commnet and
Intercall maobile phone users are Commnet users in

Germany?
L 10%
L 11%
L 12%
L 13%

FROPLE FOIRFORMANIE







BARNSBURG Table -

Most commision?? - Xiao
Total commission- £874
Product with the greatest profit — Product C







~ Most Influential AIbums

It Takes a Nation of Millions NS llmatic

to Hold Us Back

by Dr. Dre

by Wu-Tang Clan

“ by Ice Cube



http://www.amazon.com/exec/obidos/tg/detail/-/B0000024K1/ref=cm_lm_fullview_prod_1/103-7715006-6983053?_encoding=UTF8&v=glance
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http://www.amazon.com/exec/obidos/tg/detail/-/B000002WPI/ref=cm_lm_fullview_prod_4/103-7715006-6983053?_encoding=UTF8&v=glance
http://www.amazon.com/exec/obidos/tg/detail/-/B000002WPI/ref=cm_lm_fullview_prodimg_4/103-7715006-6983053?_encoding=UTF8&v=glance
http://www.amazon.com/exec/obidos/tg/detail/-/B000003B6X/ref=cm_lm_fullview_prod_10/103-7715006-6983053?_encoding=UTF8&v=glance
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http://www.amazon.com/exec/obidos/tg/detail/-/B000003B6J/ref=cm_lm_fullview_prod_14/103-7715006-6983053?_encoding=UTF8&v=glance
http://www.amazon.com/exec/obidos/tg/detail/-/B000003B6J/ref=cm_lm_fullview_prodimg_14/103-7715006-6983053?_encoding=UTF8&v=glance
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http://www.amazon.com/exec/obidos/tg/detail/-/B0000024K3/ref=cm_lm_fullview_prod_16/103-7715006-6983053?_encoding=UTF8&v=glance
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http://www.amazon.com/exec/obidos/tg/detail/-/B0000004UM/ref=cm_lm_fullview_prod_3/103-7715006-6983053?_encoding=UTF8&v=glance
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http://www.amazon.com/exec/obidos/tg/detail/-/B0000004UM/ref=cm_lm_fullview_prod_3/103-7715006-6983053?_encoding=UTF8&v=glance
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Combination of uniquely blended
vocal lyricism

Elaborate metaphors with
complex internal rhymes

Diversity in intellectually
stimulating music vibes
(instrumentalism), whereby the
hybrid fusion of other music
genre, such as soul, classical and
jazz is evident

Intensely rhythmic lyrical form
making abundant use of
techniques like assonance,
alliteration, and rhyme

—

R\




Greatest MC’s of All Time
P —

Rakim with Eric B.
3) Guru of Gang Starr
4) Chuck D of Public Enemy

5) KRS One of Boogie Down
Productions

6) Mf Doom as Viktor Vaughan
7) Kool G Rap with Dj Polo

8) Ice Cube of N.W.A and with
The D.O.C

-Tip with Phife Dawg from
%ibgCalled Quest .

10) Nas with Dj Premier

j I

R

!
*

-

11)

12)
13)

14)
15)

16)

17)
18)

19)
20)

ULTiA ez

inga.

P

SRICACBEATROYN

Common formally known as
“sense”

Posdnous from De La Soul

Kool Keith as Dr Octagon
from Ultramagnetic Mc’s

Big Daddy Kane

Gza “Genius” from Wu Tang
Klan with Ghostface

Brand Nubian with the
Native Tongues

Jeru The Damaja with Primo
EPMD

Pete Rock with CL Smooth
Big Lin D.LT.C
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Greatest Albums of All Time




People's Instinctive Travels

and the Paths of Rhythm

L

Lets

by De La Soul

by Gang Starr by Common

by Gang Starr by MF Doom

by Main Source
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